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L =1 R BT R o T A 5 it PN

HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T AR
1T
= 1 31, 313, 100
R L
= 1 31, 313, 100
R L
= 1 31, 313, 100
%72
m2 21, 700 1,443 31, 313, 100
B TR
= 1 31, 313, 100
I L
= 1 3,210, 587
IR
= 1 381, 794
BIGREsET (K30
= 1 381, 794
HIBGERE (FE L)
= 1 2,828, 793
Wi
= 1 34, 523, 687
B
= 1 13, 706, 705
T AT
= 1 63, 929, 750
— R
= 1 11, 070, 250
TS
= 1 75, 000, 000
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L =1 R BT R o T A 5 it PN

HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
THEBLF Y %H
= 1 7, 500, 000
TH#EG
= 1 82, 500, 000
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JEK R
2T X
= 1 7, 734, 090
HE o BT
= 1 6, 983, 940
ESf
= 1 6, 983, 940
R A AL R 8. 24m Hi LI 1394
m 3
i R A ALEE (A)
m3 1,394 5,010 6, 983, 940
Gan
= 1 750, 150
ARME T
= 1 750, 150
AW B
= 1 750, 150
B TR
= 1 7, 734, 090
I
= 1 2,881, 761
IR
= 1 1, 734, 529
TR
= 1 1, 602, 982
TR B S MR ST
= 1 1, 602, 982
et By
= 1 6, 748
A IIVEINATERES v ¢
= 1 6, 748
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BGmEsET (K30
= 1 124, 799
HIMGERE (FE L)
= 1 1, 147, 232
Wi
= 1 10, 615, 851
B
= 1 5, 083, 507
T AT
= 1 15, 699, 358
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